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Solutions to smp-6327-2/TOXR

Worksheet

Problem quickname: 6327

b

Caclulate the result.

a) 212 + 8 = 220
d) 284 4 8 = 292
g) 555 + 5 = 560
§) 977+ 7 = 984

2)

Caclulate the result.

a) 66 + 45 = 111
d) 98 + 14 = 112
g) 48 + 26 = 74
j) 50 4+ 78 = 128

3)

Caclulate the result.

a) 27+ 3 =30
d) 52 +2 =54
g) 719+2 =281
4)

Caclulate the result.

a) 623 + 9 = 632
d) 742 4+ 9 = 751
g) 863 + 7 = 870
j) 87149 = 880

Good Luck!
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b) 555 + 9 = 564
e) 504 + 6 = 510
h) 474 + 8 = 482

b) 39 + 38 = 77
o) 77 + 64 = 141
h) 39 + 80 = 119

b) 57 +9 = 66
¢) 76 + 8 = 84

b) 485 + 8 = 493
e) 642 + 9 = 651
h) 662 + 9 = 671
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¢) 397 + 5 = 402
f) 427 + 6 = 433
i) 561 +9 = 570

¢) 77+ 54 = 131
£) 96 + 27 = 123
i) 99 + 43 = 142

¢) 7347 =280
f) 3343 =36

¢) 922 + 8 = 930
£) 725 + 7 = 732
i) 935 4+ 8 = 943
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